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SECTION—A 5 Marks f"

0 Answer ALL questions - R P
SR : ALL questlons carry EQUAL marks ;,. (5 X l = 5)

. al F he co—efﬁctent of correlatlon isnot affected by . S
(i) Change of origm e _ (i) Change of scale
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(111) Both orlgln and scale (IV) None of the above ) ) ST

o “""";2 Fhe word statrstlcs 1s used as SR fi. B TN UL
@) Smgular PR (u) Plural SRR

3 An unb1ased com 1s tossed once What 1s the probablhty of gettmg head‘7

o 3 Goodness of ﬁt of a dlstnbutlon 1s tested by S e
o (1) t teat (n) F test (111) chl-square test (1v) z te)st

i 4 Th‘éf‘ C sum of squares measures the varlablhty of the observed values .
around thelr respectwe treatment means L o . o

(111) Smgular and Plural (1v) None of the above

(1),”1/2 ) R (m)%-;; (1v) s S R

e (1)»,tr_,.ea_tment_k (11) error p (111) Interactlon B (1V) total/ e RIS

SECTION B as Marks)
Answer ALL Questlons

6 a) erte the dlfference between the Dlagrams and Graphs
e b) Construct Hlstogram F requency polygon and frequency curve for the followmg
‘ data ‘ _ .

ALL Questlons Carry EQUAL Marksv i f{-j--‘(sf*x=35:4_='!15)'5 A

T Interval 0-10“—[;19‘]-2,0 20 30 30-40 40-50 50- 60 60 70 70 8n 80 90

i ‘Frequency S5 0 I L T T A s 15|

. 7 a) Fmd the*rank correlatlon coefﬁ01ent for the percentage of marks secured by a group-;[ E

e i’of 8 students Accountancy and Statlstlcs o

S Marks in Accountancy 50 60 657075 40 7080 el

Marks in Statlstlcs 80 7l 60 75 90 82 70 50 ) e

: RSt (OR)
b) State the propertles of Regresswn ST

e b) State the propertles of the Normal Dlstrlbutlon

8 a) A bag contalns 30 balls numbered from ‘l to 30 Onc ball is drawn at random Fmd s
the probablhty that the number of the ball drawn wrll be a multlple of a) 5 or 7 b) 3 S
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9. a) A wholesaler in apples claims that only 4% of the apples supplied by him ar‘é_:\ R
_ }def'ectn_/e. A random sample of 600 apples contained 36 defective apples. Test the
- claim of the wholesaler. S . N o
~b) Explaln the procedure for testing the significance of tWo.prOportions.

- 10.2) Explain the procedure for testing the significance of two variances.

'b) In a sample of 8 observations, the sum of squared deviations of items from the.
_ mean was 94.5. In another sample of 10 observations, the value was found to be 101. -
- Test whether the difference is significant at 5% level. s ' o

SECTION - (30 Marks)
 Answer ALL questions . . R
'ALL questions carry EQUAL Marks o (5x6= 30)

1L a)-_De‘tcvrkmin‘e,the mean and median for the'f‘bllo:Wing data:

[ Interval | 0-10 1030 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70.] -
Frequency | 18 | 41 | 90 | 131 | 140 | 54 | 15 |

| N | - (OR)
% b) Following are the marks obtained by two students A and B in 1‘-04 sets of

: e-xaminaticms. If the consistency of performance is the criterion for awarding
 the prize, who shall get the prize. - S

- [XT4450]76]48]52]72]68]56 60l64|
Y [48175 5416016369 72 51[57[56]

12 Va)' Compute the Correlation coefﬁ¢ient between X—,AdV-ertisefnént“eXpe’nditure. o o
and Y- Sales: | LT ' . o

rXTToT12[18]8 [ 1320 22[15]5 17
Y T88190 |94 8618792 96|94[88[85]

R

~b) Obtain the two the two Regression equations from the following dat‘a’al_.so
~ estimate Value of Y when X=20. SR S

XT10[12]13[12]16]15)
Y 140138 43 (453743

- 13.a) Abox contains 3 red and 7 white balis. One ball is drawn at random and in its -
 place a ball of the other colour is put in the box. Now one ball is drawn at random.
from the box. Find the probability that it isred. " ' AT
BN (6) S AR
" b) The following data show the number of seeds germinating out of 10 on damp =~
~ filter for 80 set of seeds. Fita binomial distribution to this data. o S

XToTi 213 [4]5]6]7]8]9]10
71620128 12(8[6]0[0[0[0]0
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14, a) 1() persons were appomted in‘a electrlcal posruon in an ofﬁce Thelr o
performance was noted by giving atest-and the means recorded out of 50 They
~Wwere given 6 months tralnmg and again they were given a test and marks were -
e recorded out of 50. By applymg t test can it be concluded that the employees have e

' beneﬁted by the tralnmg : o S \ v .

S Before tra1n1ng 25]20135]15]4228]26|44 35148
T Aftertrammg '_2,6" 2() 34 ;13~ 43 40129 |41 _'3_6 46|

(OR)

b) In a random sample of 1000 persons from a town A 400 are found to be VA
consumers of wheat. In a sample of 800 from town: B, 400 are found to be -
- consumers of wheat. Do these data reveal a 51gmﬁcant d1fference between

Employees A B'. C D E : F GH I T i

town A and town B so far as the proportlon of Wheat consumers 1s concerned‘> e

15 a) To assess the s1gn1ﬁcance of poss1ble varratlon in performance in a certam test
‘between the grammar schools of a city, a common test was given to a number of
‘students ‘taken at randorn from the semor fifth class of each. of the- four schools
concerned The results are glven below Make~an analySIS of varlance of data

AT”B‘_C- D]
C . 8112 18 13 N :

b) In a survey of 200 boys of whlch 75 were 1nte111gent 40 had skrlled fathers
-while 85 of the unintelligent boys had. unskilled fathers. Do these figures’
support the. hypotheses that skrlled fathers have 1ntell1gent boys" Use chi- -
square test Value of chl—square for 1 degree of freedom at 5% level is 3 84

)



